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Figure S1

Correlation between easily accesible tissues and inacessible tissues

A. Plot showing the correlation between three easily accesible tissues: blood, buccal epithelium and ovary.
The dark green line represents the correlation coefficient. The lighter green lines indicate the area where
the maximum difference between two tissues is 10% (inner green lines) or 20% (outer green lines).

B. Plot of the correlation between blood and inaccesible tissues.

C. Plot of the correlation between buccal and inaccesible tissues.

D. Plot of the correlation between hair and inaccesible tissues.
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Figure 52. Variation between tissues increases with age.
Each data point represents the average XIR difference for a single individual. The average XIR difference was calculated
from the XIR differences for all tissue combinations within an individual. Green line represents the correlation coefficient.



